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OR

dh t dFr6 cqrfi'-fi=q rrqFrqtrflr cERtd oG t vsr6-rrr trtrd
SITEI]-$C I

Which type of compound shows Geometrical isomerism? Explain with
examples.

cs{ 3. ffifuf, oTftfrqrcit o1 ffiE ffffi :

Give the mechanism ofthe following reactions :

CuHu+Ct CH. Anbdrous 'llclt ,cuH, cHr+ HCI

ct{ 4.

c uH u + HNo, -9+#P--+ C oH,No, + H,o

OR

3nEq-fi oero n-rTr 3r-JilA *ir+ar 6 oflErN q{ icerfi{ ol rir+a 6
ftd-q+ dfucr
Describe the structure of Naphthalene on the basis of Molecular Orbital
& Resonance structure.

fiatq q c.'@r{{ q ersilqYemclT-Guflft6-{q 3Tftbqr ol rrrsrcc r

Explain Hydroboration oxidation reaction in alkenes and alkynes.

OR

e-d{-tcr 3{ftfuqr el grfrm-wr grB-o qrcer dfuc r

Explain Diel's Alder reaction with equation.

cfurd e-dTss it furq-{ 3rftfuqT ol ffrqrBE ErsrEql
Explain the mechanism of Elimination reaction in alkyl halides.

OR

qfu-ftnfufuo cfr-{arrq{ d cfr Td}tffi"{ tFreqdtns of eTten

oq fi,qrqfrd t, qrsrEf 
f

Explain why chlorobnzene is less reactive than benzyl chloride towards
Nucleophlic substitution reaction.

c9;I 5.
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Note : Section A', containing 08 very short-answer-typre questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists oflong-answer-type questions. Section'A'has to be solved first.

Section - 'A'

ffqrfuT erft-g{n-t1 rrr) + srn s.F qr q) srrqt i t r

Answerthe followingvery short-answer-type questions in one ortwo
sentences. (lx8=8)

yc=r 1. 3f,5TK ql{rs 4qr t?
What is Resonance effect?

c$r 2. T{MRq f,Tq qr Hro rq sFRen i sdt +dr t?
Why is HrO liquid at ordinory tempcrature?

cr{ 3. ftqfufud or#erqq o-r qenfuG ftfuqt
Write the stablity ofthe following carbocation.

(curu,).c. , (cua,)rcHo, c6H s cH;
qs{ + q-6rRro gqr+q+or cqr t?

What is optical isomerism?---x---
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i,3-q-rsri{ d oT{-{ qTqroJ t otc sT lif,{"r t?
What is the hybridization ofcarbon atom in 1,3-butadiene?

ffituT 3Tftfrq'r o1 X"l dfuv :

Complete the lollowing reaction :

CH'-CH =CHr+ HBr ------+ A

SN'q.SN']srftfu-qr qr \fu-f, t-dr{s o1 rrrqlt or qqrq qdrg( 
|

Explain the effect of structure of alkyl halide on SNr&.SN2 reaction.

Edd d ftq{ d erSwn fi t q\fto s{ittro T"I qERio uti t?
According to Huckel's Rule which type of compounds show aromatic

character?

(3)

OR

i'w d aqq ftrar< w fts,fr ftfuct
Write notes on Baeyer's strain theory.

g5t 4. frftc it Hsrd dr,T al fitqrfrE q{3rrfl{rfs ol sqRerft q {drsc I

Describe the mechanism ofaddition of HBrto propane in the presence

ofperoxide.

OR

3lM-trf,wr qr+rq qqT B? sErEr"r qtra cqflr{tt
What is Ozonolysis? L,xaplain with examples.

s,r erftfr-+r o1 anq rrqrq{crdr qdr{g 
I

Explain the Stereochemistry of SNr reaction.

OR

ft-{t{d q-d{T{s t ftrt€rr d ffiaor c{ ftsff fafucl
Write notes on the reactivity ofchlorine in vinyl chloride.

Section - 'C'

ffifu-d Ad B-flfrq er+ A ts\R 3oo-350 {r< frqr fr t
Answer the foltowing long-answer-type questions with word

q{{ 5.

limit 300-350
qr{ 1. o.rt{I{{ d *tr+qr oqr terfue d fti-+qr dfuc t

Discuss the structure & stability ofCarbanions..

(3x5=1s)

OR

rEfrq ol rj{4{r dan {erTfr-G. ei $qsEg I

Discuss the structure & stability of Nitrene.

ca;r 2. dfue6 Gffi q frtili fut-d 6T{-{ scRsrf, t'dBro arq ol e-frRro

r{ffrqtrf,r or qdn dftIt
How many chiral carbons are present in Lactic acid. Discuss the optical

isomerism in lactic acid.
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IR;I 5.

vs;I 6.

gs;t 7.

IIq;I 8.

ct"I 2.

Section - 'B'

frqifr-d dg sf,ftq rrt'f d Btrt 15&-2oo {r< frqr { t
Answer the following short-answer-type questions with word

limit 150-200 (2xs=10)

Cs;I 1. orpn 6r{ffi ffics-dTrs qn rrfrnp i{-Elf,ffi t<fteErEs t
rqt 6q d-f,r B?

Why is the melting pointof o-hydroxy benzaldehyde is lower than that of
p-hydroxy benzaldehyde?

OR

orqiRr{fuo qEt ol r{f,flr oI mrr trlTR d entm q{ qqsrsg I

Explain the strenglh ofcarboxylic acids on the basis of inductive effect.

3teftftq Fc o) vilflur sEo rrqgrsc t

Explain the Distereoisomers with examples.

OR

sqffiq {Hrrfqtrflr 6E-z qcfr q{ fts"t ftfuct
Write notes on E - Z nomenclature of Geometrical isomerism.

qE{ 3. srfidcdc fid 01 ffiff'+q 6g a1 qufq dfqct
Describe the Wislicenus method for the preparation ofcycloalkanes.
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